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①
S = { 5, 3,10, I sit }

÷÷s
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Trve.loisanelementofs.CH
IES

False .
Z is not an element of

S
.

thctruestatenentwouldbe.IE#
(c) 345

False .

3 is an element of
S

.

The true statement would
be 3 ES .



②

A = { I
,
2
,
3
,

- I 0
,

- I
,
- 2 }

S = { t
' / t E A }

-

- {hi, hi, Csi,
hot
,

C - II

= { I , 4 , 9 ,
I 00 ,

I
, 4 }
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③

5- { t / tit-1=0 where t is a real number}

5 consists of
all real

numbers t

that solve
the equation

ttt -1=0 .

The solutions of tilt
-1=0

are e- = t±-÷=t¥
so ,

s={t¥s , -1¥ }

S consists of two
elements .



④

S={ fit , I - Iste 2 where TER}

Let y -- t
't I

.t÷÷÷.
When -1st

L2
,
the expression

tht ranges

over the interval [ 1,5) .

So
,
5- [1,5)


